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OAl & &EHI= Xl 11,980
—OF2l 2 Xl = Al I 4,000,000& 14 4,000
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ooz 5,700
-EMNE MO L X022l M2 5,700
= 4,560
= 1,140
202 04| 7,500 7,000 500
= 6,000
= 1,500
01 2LH0dH 7,500 7,000 500
OEZUEINYS L XA 7,500
= 6,000
= 1,500
207 9122l 20,000 20,964 ~964




D ABe T gRA
i UL0 2UTEEY

P ESHFEANEE (el &)
. rSJELe= ~
S HB - ER(EI) - Abou i SImE=ET
= 16,000
= 4,000
03 Al &2 d| 20,000 20,964 A 964
OESHFE X0t 20,000
= 16,000
= 4,000
A AlIE kA 6,994 6,994 0
101 @124 H| 1,994 1,994 0
04 JI2M22XHSE 1,994 1,994 0
OZXl AlE A L 40,4803 1 »45 1,822
OgIERE34d ) 172
207 A I d| 5,000 5,000 0
03 Al & 2d| 5,000 5,000 0
OZX AE2A 5,000
= HEAD R 67,369 65,727 1,642
ST M ALS 15,896 0 15,896
101 el 24 Hl 7,896 0 7,896
04 JIZtHZ2 2 S E 7,896 0 7,896
Od&=HMI XK
, 4803 x1H %180 7,287
OHZERESI(UUHEEE) 609
207 & IH 8,000 0 8,000
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